Economics 101

Answers to Homework #1

Spring 2006

1.1 

a.
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b. The slope of the line is -0.5.
c. The equation of the line is P = 10.5 – 0.5Q.
d. The vertical intercept is 10.5 and the horizontal intercept is 21.
1.2 Z = 35
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2.1 Normative statement

2.2 Positive statement

2.3 Positive statement

2.4 Normative statement

2.5 Normative statement

3.1
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3.2 300 bicycles

3.3 4/3 wheat

3.4 Any points inside the production possibility frontier e.g. 700 wheat and 700 bicycles.

3.5 While a straight line production possibility frontier represents constant opportunity cost of production, a bowed-out production possibility frontier represents increasing opportunity cost of production. 
4.1 An individual has a comparative advantage in producing a good if the opportunity cost of producing the good is lower for that individual than for other people.
4.2 An individual has an absolute advantage in an activity if he or she can do it better than other people can.
4.3, 4.4

	Producing
	Opportunity cost

	
	Bikanel
	Kilika

	Bicycles
	2 (Wheat)
	½ (Wheat)

	Wheat
	½ (bicycle)
	2 (bicycles)


4.5 The slope of the production possibility frontier represents the opportunity cost of producing one more unit of wheat (or, in general, one more unit of good on the horizontal axis) 
4.6 Bikanel Island has the absolute advantage in both goods.
4.7 Bikanel Island has the comparative advantage in producing wheat and Kilika has the comparative advantage in producing bicycles.
